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$RI6%£115148 RIREHE 329, 800kg
HE IR EAS 256, 800kg
EX1= REMES | REHE g FiEH =2 By (REHE BRES%E
(kg) (kg) =iE H{E ZiE

Bl A 22,000 |[&Y 0 — — —
A% ER 3| EHE 10kg 22,000 1,944 —| 1,404
ZA LA 20,000 [&Y 0 — — —
X ER B jiEE 10kg 20, 000 —| 2,700 —
(< &L 27,000 [t Y 0 — — —
A% ER 3| REHE 12kg 27,000| 1,728 —1{ 1,080
FoRY 7,000 |€Y 0 — — —
X ER 5| BER 10kg 7,000{ 3,780 —| 3,240
EFS5SNAZS 6,000 |&Y N 200 g 200 — 86 —
A% ER 3| HARE 200 g 5, 800 130 — 65
h& 10,000 [&Y 0 — — —
Xt ER 5| EHE bke 10, 000 —| 3,240 —
25 3,000 |[&Y 0 — — —
A% ER 3| N 100 g 3,000 — 108 —
L& R 20,000 [&Y 0 — — —
Xt ER 5| KB 10kg 20,000 3,240 —| 2,700
EpSY 5,000 |[€Y 0 — — —
A% ER 3| N Sk 5, 000 —| 5,400 —
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$RI6%£115148 RIREHE 329, 800kg
HX RESEAE 256, 800kg
T&E REHEH | TEHE R X A & | B |REHE BR5E&%E
(kg) (kg) =iE H{E ZiE

Lo AL 500 |&Y 0 — — —
X EE| FNC] 150 g 500 173 — 76
AL & 12,000 |[#Y 0 — — —
X ERE| FEE bke 12,000 2,376 —{ 1,620
AZDELT 1,800 &Y 0 _ ___ ___
FAxTERE| RHE 200 g 1,800 97 — 86
HFY—2F R85 0 &Y 0 __ — ___
X ERE| 0 — — —
H=—LA R 1,000 |&Y 0 — — —
X ERE| £/30 ] 4kg 1,000( 3,240 —{ 2,160
I=k< b 3,000 [tV 0 — — —
X ERE| B4R 200 g 3, 000 — 324 —
Jawal— 3,000 |[&Y 0 — — —
X EE| FNC] 8kg 3,000 —| 3,499 —
PELNE 700 &Y 0 — — —
X ERE| BER 4kg 700 —| 4,320 —
A 1,000 |&Y 0 — — —
X EE| FNC] 500 g 1,000 — 194 —
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RERFEHE 329, 800kg
HX ERFEEHESE 256, 800kg
T&E BREHE | ZEAE L85 FEH = | B |REHE AR5 £ 5E
(kg) (kg) =iE th{E it
ZDHhFFE 50,000 |&73% — 50, 000 - _ —
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HBIRFTHE 329, 800kg
RE IRSEME S 68, 000kg
T&E REMESH | TEHE g FiEH =] By (REHE BRES%E
(kg) (kg) =1E B =&

HIA 45,000 |t Y 0 — — —
XAl (R4 LR 10kg 45, 000 —| 4,860 —

YA 5,000 |&Y 0 — — —
MEXEE AL EHE 10kg 5, 000 —| 6,480 —

FgL—F 70—y 500 |€Y 0 — — —
FE*IE S| F—R YT 17kg 500 —| 7,020 —

NFF 3,000 |[&Y 0 — — —
X ER S| J4YEY 13kg 3,000 3,888 —| 3,240

LEY 1,000 |[€Y 0 __ —_ —_
FE*IE S| F1) 17kg 1,000 —| 7,560 —

AL 0 &Y 0 — — —
X ER S| 0 — — —

mE 1,000 |[€Y 0 — — —
HExEE |EE e 7. 5k 1,000{ 7,560 6,480 4,320

FLoe 500 |t Y 0 — — —
X ER S| F—R+rS5UT 17kg 500 — 9,720 —

NAUT T 1,000 |[€Y 0 __ __ —_
FE*IE S| J4)EY 10kg 1,000 —| 4,320 —
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PHCEIIAHE LR NE 329, 800kg
RR RS E A S 68, 000kg
TRE REMEE | TEAE o TEH =% | B |HENE BRE 24

(kg) (kg) =iE H{E ZiE
1 T L— 1,000 |2 ol — - =
ARSI —2a—U—5uFk 35kg | 1,000 —| 2481 ——
ZOMRE 10,000 |2 - ool — O —
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{AERE M E 329, 800kg
Z Dt REME AR 5, 000kg
FRE REHEH | =BH% oiE FEH = B |BRENE RS &4
(kg) (kg) =iE H{E ZiE
ZDith 5,000 (&A% - 5,000 —_— —_— —_—




